Award Worksheet

Purchasing Entity:	Shelby County Schools			Run Date:	2/24/17 10:31 am			
Bid ID:	2267	Awarded:						
Description:	Copy of Information Technology - APC Battery Backup	Bids Due By:	02/24/2017 10:00 AM					
Category:	Hardware - R#722113 - TJ)	Bids Sealed Until:	02/24/2017 10:00 AM					
Effective Start Date:								
Effective End Date:								
	Vendor Summary Information							

Vendor Summary Information									
Vendor Name	Response Terms	Response Payment Terms	Response Dollar Summary						
Central Technologies Inc	•	·	205,278.0000						
SOS Computers, LLC			214,137.0000						
Thomas Consultants, Inc.	Models as specified	Net 30 days	212,284.5000						
Two Rivers Power, LLC			209,550.0000						
Unistar-Sparco Computers, Inc.	APC Smart-UPS X 3000VA Rack/Tower LCD 100-127V 4U Tower/Rack Mountable with Network Card Mfg p/n SMX3000LVNC (UPS Management Network Card 2 included)	NET-30	207,600.0150						

Line Lot Number Code	Item Description	Purchase Unit	Vendor	Bid Price	Response Quantity	Total Price	Pending Award Quantity	Pending Award Total	Pending Award
No lotted items found fo 1	or the selected criteria. APC Smart-UPS X 3000 Rack/Tower LCD - UPS - 2700 Watt - 3000 VA Manufacturer & Part Number:	1 - Count APC	Central Technologies Inc	1,135.0000	150	170,250.00			
	Quoted as Spec'd: Yes		Product Number: SMX3000LV						
	Item Notes: Mfg # SMX3000LV								
	Please note:"30 amp twist lock c	ord should be included for	each UPS.						
	Specification (line item-1): APC S 100-127V 4U Tower/Rack Mount Response Item Notes: We would	able with Network Card SN		he network card w	/ith it.				
	APC Smart-UPS X 3000 Rack/Tower LCD - UPS - 2700 Watt - 3000 VA Manufacturer & Part Number:	1 - Count APC by Schneider - S	Thomas Consultants, Inc. MX3000LV	1,182.9600	150	177,444.00			
	Quoted as Spec'd: Yes		Product Number: SMX3000LV						
	Response Item Payment Terms	: Net 30 days							
	Response Item Notes: APC mod	-							
	APC Smart-UPS X 3000 Rack/Tower LCD - UPS - 2700 Watt - 3000 VA	1 - Count	SOS Computers, LLC	1,194.0000	150	179,100.00			
	Manufacturer & Part Number:	APC Smart-UPS X 30	00 Rack/Tower LCD - UPS - 2700	0 W - SMX30000L	V				
	Quoted as Spec'd: Yes		Product Number: SMX30000LV	/					
	APC Smart-UPS X 3000 Rack/Tower LCD - UPS - 2700 Watt - 3000 VA Manufacturer & Part Number:	1 - Count SCHNEIDER ELECT	Unistar-Sparco Computers, Inc. RIC - SMX3000LVNC	1,384.0000	150	207,600.00			
	Quoted as Spec'd: Yes		Product Number: A5MR457						
	Response Item Payment Terms	: NET-30							
		art-UPS X 3000VA Rack/To	ower LCD 100-127V 4U Tower/Ra ed)	ack Mountable wit	h Network Car	rd Mfg p/n			

Line Lot Number Code	Item Description	Purchase Unit	Vendor	Bid Price	Response Quantity	Total Price	Pending Award Quantity	Pending Award Pending Total Award	
	APC Smart-UPS X 3000 Rack/Tower LCD - UPS - 2700 Watt - 3000 VA	1 - Count	Two Rivers Power, LLC	1,397.0000	150	209,550.00			
	Manufacturer & Part Number:	Schneider Electric (A	PC) - SMX3000LVNC						
	Quoted as Spec'd: Yes		Product Number: SMX3000LV	NC					
	Response Item Payment Terms								
	per Toni. Includes standard ship		with UPS Network Management	Card 2 pre-installe	d so no need f	or line 2			
2	APC Network Management Card 2 - remote management adapter Manufacturer & Part Number:	1 - Count SCHNEIDER ELECT	Unistar-Sparco Computers, Inc.	0.0001	150	0.02			
		SCHNEIDER ELECT	Product Number: A3CB030						
	Quoted as Spec'd: Yes								
	Item Notes: Specification (line it management adapter. Response Item Payment Terms		gement Card 2 - remote						
	Response Item Notes: (already included in line 1)								
	APC Network Management Card 2 - remote management adapter Manufacturer & Part Number:	1 - Count APC by Schneider - /	Thomas Consultants, Inc.	232.2700	150	34,840.50			
	Quoted as Spec'd: Yes		Product Number: AP9630						
	Response Item Payment Terms	: Net 30 days							
	Response Item Notes: APC mod	del as specified.							
	APC Network Management Card 2 - remote management adapter	1 - Count	Central Technologies Inc	233.5200	150	35,028.00			
	Manufacturer & Part Number:	APC							
	Quoted as Spec'd: Yes		Product Number: AP9630						
	Response Item Notes: Again, we would suggest purchasing the SMX3000LVNC as one sku instead of these separate.								
	APC Network Management Card 2 - remote management adapter	1 - Count	SOS Computers, LLC	233.5800	150	35,037.00			
	Manufacturer & Part Number:	APC Network Manag	ement Card 2 - remote managem	ent					

								Pending	Pending	
Line	Lot					Response		Award	Award	Pending
Number	Code	Item Description	Purchase Unit	Vendor	Bid Price	Quantity	Total Price	Quantity	Total	Award

Quoted as Spec'd: Yes

Product Number: AP9630